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Roll No: Tech Of World

Registration No: Tech Of World
Name: Tech Of World

Exam Date: 06-Dec-2021

Exam Time: 12:30-14:00

Post Name: Sub Inspector of Excise

General English Language - General English Language

Question No.1 Marks:

Bookmark
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Strong dislike between two persons

(A) O Sympathy

(B) O Telepathy

(C) O Antipathy (Correct Answer) (Chosen option)
(D) O Apathy

Question No.2 Marks:

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Larcany

(B) ©O Mandatery

(C) O Pacify (Correct Answer) (Chosen option)
(D) O Insurgant

Case Study-3to7

Directions: Read the passage carefully and answer the questions that follow.

Farmers in Kerala have been facing great economic loss due to loss in life and reduction in milk
yield due to Foot and mouth Disease every year. Besides this the State incurred large economic
losses as a result of the inability to produce and ship processed animal products. It was estimated
that the country is losing over Rs 4000 Crore annually due to FMD.

Since the State does not have the economic resources to implement a large scale disease control
project on its own, it was decided to approach an external agency such as National Dairy
Development Board to provide infrastructural and monetary support.

Consequent to a series of discussions at Government level, NDDB agreed in principle to launch a
joint venture programme to suppress Foot and Mouth Disease in the state.

Question No.3 Marks:

Bookmark
What can be done to save the farmers who face economic loss?

(A) O Steps must be taken to control FMD (Correct Answer)

(B) O Steps must be taken to provide them with alternate jobs

(C) © They should be provided with more farming land

(D) © Farmers should be compensated with money (Chosen option)

Question No.4 Marks:

Bookmark
Statement 1: The state decide to approach an external agency to implement a large
scale project of controlling FMD because the state wanted to give a chance to the
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external agencies.

Statement 2: The State incurred huge economic losses due to FMD.

(A) O Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true (Correct Answer) (Chosen option)
(C) O Both the statements are true

(D) O Both the statements are false

Question No.5

Why did the State government approach an external agency, NDDB?
(A) O Forinfrastructural support only

(B) O For monetary support only
(C) O To ship animal products
(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.6

The state incurred economic loss due to:
(A) O Reduction of milk only

(B) O Its inability to ship animal products only
(C) O Lack of infrastructural facilities
(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.7

According to the passage, what does the word 'suppress' mean?
(A) O Amplify

(B) O Strengthen
(C) O Boost
(D) O Control (Correct Answer) (Chosen option)

Question No.8

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One, who supervises in the examination hall

(A) O Invigilator (Correct Answer) (Chosen option)
(B) O Shoal

(C) O Epic

(D) O Aspirant

Question No.9
E
Fill in the blanks with suitable Preposition from the given alternatives.
A tall perfectly decorated Christmas tree stood the entry gate.
(A) O throughout
(B) O since

(C) O besides
(D) O beside (Correct Answer) (Chosen option)
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external agencies.

Statement 2: The State incurred huge economic losses due to FMD.

(A) O Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true (Correct Answer) (Chosen option)
(C) O Both the statements are true

(D) O Both the statements are false

Question No.5

Why did the State government approach an external agency, NDDB?
(A) O For infrastructural support only

(B) © For monetary support only
(C) O To ship animal products
(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.6

The state incurred economic loss due to:
(A) O Reduction of milk only

(B) O Its inability to ship animal products only
(C) O Lack of infrastructural facilities
(D) O Both 1 and 2 (Correct Answer) (Chosen option)

Question No.7

According to the passage, what does the word 'suppress' mean?
(A) ©O Amplify

(B) O Strengthen
(C) O Boost
(D) O Control (Correct Answer) (Chosen option)

Question No.8

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One, who supervises in the examination hall

(A) O Invigilator (Correct Answer) (Chosen option)
(B) O Shoal

(C) O Epic

(D) O Aspirant

Question No.9

Fill in the blanks with suitable Preposition from the given alternatives.

A tall perfectly decorated Christmas tree stood the entry gate.
(A) O throughout

(B) O since
(C) O besides
(D) O beside (Correct Answer) (Chosen option)
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Question No.10

Choose the word which expresses nearly the opposite meaning of the given word "
INFIRM ",

(A) O Anemic

(B) O Strong (Correct Answer) (Chosen option)
(C) O Fragile

(D) O Faint

Question No.11

Fill in the blanks with suitable Article from the given alternatives.

Dr. Philips visits schools and colleges to educate studentson________Tuberculosis.
(A)O a

B) O an

(C) O the

(D) O No article (Correct Answer) (Chosen option)

Question No.12

Fill in the blanks with suitable Article from the given alternatives.

The video has gone viral and has collected nearly 4.2 million views.
A) O a

B) O an

(C) O the

(D) O No article (Correct Answer) (Chosen option)

Question No.13

Choose the word which expresses nearly the opposite meaning of the given word "
DESOLATE".

(A) O Unused
(B) O Lonely
(C) O Empty
(D) O Full (Correct Answer) (Chosen option)

Question No.14

Fill in the blanks with suitable Article from the given alternatives.

Lionel Messi wins best FIFA player of year.
A)O a

(B) O an

(C) O the (Correct Answer) (Chosen option)

(D) O No Article

Question No.15

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.
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Question No.10

Choose the word which expresses nearly the opposite meaning of the given word "
INFIRM ".
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Question No.12

Fill in the blanks with suitable Article from the given alternatives.

The video has gone viral and has collected nearly 4.2 million views.
A)O a

(B) O an

(€) O the

(D) O No article (Correct Answer) (Chosen option)

Question No.13

Choose the word which expresses nearly the opposite meaning of the given word "
DESOLATE ".

(A) O Unused
(B) O Lonely
(C) O Empty
(D) O Full (Correct Answer) (Chosen option)

Question No.14

Fill in the blanks with suitable Article from the given alternatives.

Lionel Messi wins best FIFA player of year.
A) O a

(B) O an

(C) O the (Correct Answer) (Chosen option)

(D) O No Article

Question No.15

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.
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Animal that feeds on plants

(A) O Predators

(B) O Herbivorous (Correct Answer) (Chosen option)
(C) © Omnivorous

(D) O Carnivorous

Question No.16

E
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct’.

The engaging show were set in a village where Jeetendra's character has started his
first government job.

(A) O was setin a village whom

(B) O was sets in a village where

(C) O was set in a village where (Correct Answer) (Chosen option)
(D) O The given sentence is correct

Question No.17

Find the word which is correctly spelt from the given options.
(A) O Perplax

(B) O Sibbling
(C) O Regretable

(D) O Inclination (Correct Answer) (Chosen option)

Question No.18

E
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct’.

The Academy announced that the best picture category will now be fixed at 10 films,
rather than the fluctuating number of nominations.

(A) O announce that the best picture category will

(B) © announced that the best picture category need to

(C) O The given sentence is correct (Correct Answer) (Chosen option)
(D) © announce which the best picture category will

Question No.19

Find the word which is correctly spelt from the given options.
(A) O Prospactive

(B) O Sugestive
(C) O Innovative (Correct Answer) (Chosen option)
(D) O Mercenery

Question No.20

Choose the word which best expresses the similar meaning of the given word "
PROFOUND ".
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Animal that feeds on plants
(A) O Predators

(B) O Herbivorous (Correct Answer) (Chosen option)
(C) O Omnivorous
(D) © Carnivorous

Question No.16

B¢
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.
The engaging show were set in a village where Jeetendra’s character has started his
first government job.
(A) O was set in a village whom
(B) O was sets in a village where
(C) O was set in a village where (Correct Answer) (Chosen option)
(D) O The given sentence is correct
Question No.17
B¢
Find the word which is correctly spelt from the given options.
(A) O Perplax
(B) O Sibbling
(C) O Regretable
(D) O Inclination (Correct Answer) (Chosen option)
Question No.18
B¢
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
The Academy announced that the best picture category will now be fixed at 10 films,
rather than the fluctuating number of nominations.
(A) O announce that the best picture category will
(B) O announced that the best picture category need to
(C) O The given sentence is correct (Correct Answer) (Chosen option)
(D) © announce which the best picture category will
Question No.19
B¢
Find the word which is correctly spelt from the given options.
(A) O Prospactive
(B) O Sugestive
(C) O Innovative (Correct Answer) (Chosen option)
(D) O Mercenery
Question No.20
B¢

Choose the word which best expresses the similar meaning of the given word "
PROFOUND ".
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(A) O Ignorant

(B) © Moderate

(C) O Superficial

(D) O Intellectual (Correct Answer) (Chosen option)

Question No.21

B¢
Choose the word which best expresses the similar meaning of the given word "
IMPREGNABLE ".

(A) O Breakable

(B) O Calm

(C) O Crazy

(D) O Firm (Correct Answer) (Chosen option)

Question No.22

B¢
Fill in the blanks with suitable Preposition from the given alternatives.

| wear aring my finger.

(A) O above

(B) O at

(C) O on (Correct Answer) (Chosen option)
(D) O below

Question No.23

B
Fill in the blanks with suitable Preposition from the given alternatives.

There is a vegetable shop just the road.
(A) O since

(B) O besides

(C) O across (Correct Answer) (Chosen option)

(D) O about

Question No.24

B¢
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Residing primarily on Western Australia’s Rottnest Island, Quokkas loves for sleep and
are the happiest of all animals.

(A) O loves to sleep and is the happiest of

(B) O The given sentence is correct

(C) O love to sleep and is the happiest of (Chosen option)
(D) O love to sleep and are the happiest of (Correct Answer)

Question No.25
Bt
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct’.
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Question No.23
Bt
Fill in the blanks with suitable Preposition from the given alternatives.
There is a vegetable shop just the road.
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Question No.24
B
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option The given sentence is
correct’.
Residing primarily on Western Australia's Rottnest Island, Quokkas loves for sleep and
are the happiest of all animals.
(A) O loves to sleep and is the happiest of
(B) O The given sentence is correct
(C) O love to sleep and is the happiest of (Chosen option)
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Question No.25
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
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The face value of fake currency in Indian rupees was around Rs 87 crore, as per the
preliminary estimate.

(A) O The given sentence is correct (Correct Answer)

(B) O of fake currency in Indian rupees were (Chosen option)
(C) O of fake currency above Indian rupees were

(D) O of fake currency above Indian rupees was

Odia Language - Odia Language

Question No.1

‘A & eI 618 ?

(A) O am

(B) O ©g¢ (Correct Answer)
(C) O zagre

(D) O age

Question No.2

‘&' Gk @'61 7

(A) O FQ1

(B) O Q&

(C) O awpéan (Correct Answer) (Chosen option)
(D) O awen

Question No.3

'PICAEE- 6RE QAIa ?

(A) O
(8) O
© O
0 O

Q9Q1@
2UIQ (Chosen option)
Q4Q (Correct Answer)

9q

Question No.4

AR - 900 AR d0 @' ?

A) O
() O
©O0
(D) O

aeg
aae
2QA1e (Correct Answer) (Chosen option)
geie

Question No.5

PRI - 900 GARE §IR @'41 ?

) O
® O
© O

O

[Siala a1
Al (Correct Answer) (Chosen option)
FseEaquy
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The face value of fake currency in Indian rupees was around Rs 87 crore, as per the
preliminary estimate.

(A) O The given sentence is correct (Correct Answer)

(B) O of fake currency in Indian rupees were (Chosen option)
(C) O of fake currency above Indian rupees were

(D) O of fake currency above Indian rupees was

Odia Language - Odia Language

Question No.1

QAT & gRIQ 6 ?
A) O am

(B) O
{£) O
(D) O

©g¢l (Correct Answer)
2AA°6
Qe

Question No.2

' GIner @'8 7

(A) O a&a

(B) O a1

(C) O egean (Correct Answer) (Chosen option)
(D) O aeen

Question No.3

'RCAOEF- 66l AFIa ?

(A) O @g9i@

(B) O 2e4eue (Chosen option)
(€) O @& (Correct Answer)

(0) O 3q

Question No.4

AR’ - 690 TG0 e '8 ?

(A) O @ae

(B) O Gae

(C) O aiaqu@ (Correct Answer) (Chosen option)
(D) O ge@

Question No.5

ZAQRT - 6196 AR 618 Q"6 ?
(A) O fodain
(B) O @aaeud (Correct Answer) (Chosen option)
(C) O Fsaaquy
O
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(D) 2Rt

Question No.6

'69 QYIRQEIER AF I'- AIRY6R 2RI 'MIRAAER 6RE ARG ?
(A) O asem

(B) O agen (Correct Answer) (Chosen option)

() O ay

(D) O ogeh

Question No.7

'R 0l QPTR 60 271 O ?

(A) O @0 AR6a AIRE QB

(B) O Q0¥ 2ALER QP 60Q!

(C) O mna 2§ (Correct Answer) (Chosen option)
(D) O QANMRRER FFIEQ R AR 623

Question No.8

‘PO R IR ER ?

A) O age

(B) O 6@61& (Correct Answer) (Chosen option)
€) O o

(D) O 2agrs

Question No.9
Oa et 0gia G2l |
(A) O aa@eia (Correct Answer) (Chosen option)
(B) O adbieiasa
(C) O addelea
(D) O geddelq

Question No.10

T QAR QIR I'- IRI6R 21 'AFAINFA 604 Gag ?
(A) O @g1(Correct Answer) (Chosen option)

B) O agen

() O ogen

(D) O asm

Question No.11

NG - 626 AFIE ?
(A) O 9gg1@
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(D)  2aqRye

Question No.6

W om

'8 MIRQSIEQ T |- QIRYER 2R 'IRAEER bR g ?
(A) O asm

(B) O agen (Correct Answer) (Chosen option)
(C) O aql

(D) O ogeh

Question No.7

QG QO TR 6ae 212 O ?

(A) O €0 2R6R Qe QBa

(B) O QIeY anaea Q19 69@!

(C) O m1é €Ll (Correct Answer) (Chosen option)
(D) O QIRRIRER 9RIER RO IRl 629

Question No.8

‘PRI R RIR 6e ?

(A) O qige

(B) O e@a& (Correct Answer) (Chosen option)
(C) O oae

(D) O aages

Question No.9
Oe 608 0gia Gl |
(A) O aq@eia (Correct Answer) (Chosen option)
(B) O adbtiQiaea
(C) O adbieiea
(D) O aRulIa

Question No.10

T°Q AGAINGEA AR I'- QIRIER 21 'AFAINTA 60 90 ?
(A) O ag1 (Correct Answer) (Chosen option)

(B) O agen

(C) O egeh

(D) © aam

Question No.11

2R’ - 626 QAL ?
(A) O og91@
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(B) O 241QUQ (Correct Answer)
©€) O g8
(D) O gl (Chosen option)

Question No.12
O 606 0gIR @2 |
(A) O Qpeer

B) O Q@R

(
(C) O qeige (Correct Answer) (Chosen option)
(D) O PIEQIRIe

Question No.13

2R - Ra FARe g8 @'6 ?

A) O Gequaie (Correct Answer) (Chosen option)
B) O G6aIQ Qe

C) O Geaue

D) O olealele

T e

Question No.14
O 606 621 Q2 |
(A) O aeeaeIda (Correct Answer) (Chosen option)
(B) O aeemeidm
(C) O €IeeReIds
(D) O aeerReIdd

Question No.15

'0&Id6l- QPG eadl 218l O ?
(A) O gwlea 80 62IR I2Ig QU
(B) O g ggal

(C)
(

O @R @ §01a @1dy @& (Correct Answer) (Chosen option)
D) O 2«IQ an 9°ge @6

Question No.16

AGR- 68 AP FRE @'¢l ?

(A) O 20600,

(B) O sre

(€) O @

(D) O <@g (Correct Answer) (Chosen option)

Question No.17
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(B) O a«ya1eue (Correct Answer)
© O e
(D) O §q (Chosen option)

Question No.12
O 606 fela &2l |
(A) O Qieeee
(B) O Qe@e

(C) O aigiae (Correct Answer) (Chosen option)
D) O @eale

Question No.13

2R - (RQ FAAS 616 @'€ ?

(A) O Gequaliq (Correct Answer) (Chosen option)
(B) O Gealq @e

(€) O Geque

(D) O oL

Question No.14
0% aa6 SgiIe @2l |
(A) O aeemelde1 (Correct Answer) (Chosen option)
(B) O ceorqida

(C) O ¢leeraidd
(D) O PR

Question No.15

'2FI6!- QPER 6a@ 22 O ?

(A) O gwIea 891 621 9QIg QUG

(B) O gwIg 45l

() O @8 @ J0I1a @14 @GR! (Correct Answer) (Chosen option)
(D) O 2=IQ AR I°gR @A

Question No.16

'2gQ- 66 AIFEARIS 60T @'l ?

(A) O a21@sem,

(B) O 80

() O s

(D) O <ge (Correct Answer) (Chosen option)

Question No.17
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g ARSI QPeR 696 212 O ?

(A) O emipd Q@ a«Ia@l (Correct Answer) (Chosen option)
(B) O 2igg 6FAF

(€) O g 2eg aranea RIEal

(D) O aigy IR AT @@

Question No.18 Marks: 1

Bookmark
'VQAIN- 6@Q QA ?

(A) O @@91@ (Correct Answer) (Chosen option)
(B O 99

(C) O zygiQue

(D) O gq

Question No.19 Marks: 1

Bookmark
'Y’ PINN6R 6RR QG §49 7

(A) O egeh (Correct Answer)
(B) O @610 (Chosen option)
(C) O ay

(D) O aaem

Case Study - 20 to 24
'Ag° @1 ARIAR SIG1R° Q1 AR’ FRER PRg Q1FE AR ARIYICIST AIPRFET 2IFAQ AU6ae AaRIaR
Q6a16R ARIACGIF 2IQF F5A | 6TEOR 64 AIEA 816 QIR UM F6m 61 JTAUDER AIGFER 608 629
EIRRZIER | AAY 2IFALIAT ARIGIE AQEIFT 62IR 2ge] FAER YAUR Al JIEI9RT 60QI1Q 2GR FERRR F6M
| g ARIA AAGF FEEA “QAAIe AR ITRIE | D2l AAAER ¢ 671l @181 FEINGRT, AElFIR arsg 61aQ
JERIP @6 F6061 g AER @6, ARYER1 4G I B 22°AIg G168l @ @AY, 696Q ZIAFINTES PO REE 1" 9@
60Q J8Q| AREa 60 §5¢ 2TMEq FRILMIA 6RIR FAIC 61§ HIV 2R, IR2l 969 B 2isr OQRIeeR §BRIg
|

e

Question No.20 Marks: 1

Bookmark
aigelldia PR @ gmi?

(A) O gaiay AR gIeem16@QIg (Correct Answer) (Chosen option)
(B) O 21grea a@del il

(C) O IS 2AQelF @ 6299Ig

(D) O gaiey AR QEeR1 PEaelq

Question No.21 Marks: 1

Bookmark
QISR FIO6R SIFFAIN@AQ 04 60506 %_@@G’?

(A) O aovIge1 asy G A8°alq 6416 Re6m (Correct Answer) (Chosen option)
(B) O 6arler agy G 22°aiq 6461 @6m

(C) O sarleR 2I6A 6416 FASINGIem

(D) O aRuIgRIFIeR 2grlea Q@M
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2 ARIRQI- QPER 6aa 212 OR ?

(A) O smimpa Q@ d@I@el (Correct Answer) (Chosen option)
(B) O aigg 6aigel

(C) O alg 2egl a°dx6a FI&a!

(D) O gy 6UIR AT QAR

Question No.18 Marks: 1

Bookmark
'VQRIR- 66 QAL ?

(A) O @@1@ (Correct Answer) (Chosen option)
(B) O 9%

(C) O 2y

D) O @9

Question No.19 Marks: 1

Bookmark
'YL’ AIARER 606 0 £ ?

A) O egéel1 (Correct Answer)
B) O @©1al (Chosen option)
C) O agy

(
(
(
(D) O asen

Case Study - 20 to 24
'71g° Q1 ARIGAR SIIE° @ TISEAR’ FIgER HRg G186 @8 ARIGICIST AIRQFET 2IFAQ AC6ar JaRIae
Q6aUER ARICCGIA ZIQF M6 | 6ICRE 64 AIGH 818 AP AI0A @EM O] JIRIT6R 2GR 688 6T
6EIRAZER | AAY ZIGAI ARIGIE AFENFN 621Q 296 DRER YR A SIS 601G 2IgR PERRR P6m
| Bg A2IQ) ANGF FP6R “QEAIR AN, ATRIP | D2l IAAER ¢ 67 QIET FEIRERT, AAAIR AA6Y §1RQ
qRuIIe @8 6061 @Y QER @R, AGHIPRT AT 464 G 2R°AI G4IS A KAY, 6069 ARG @A gREE I 1@
¢0e J8Q1 0g6a 64 §5¢ 2EMEQ FRIRMIR 69916 BAIC 61§ FES M., IR2I I6e @ 2I6A DeaIesa 9BRIY
|

e

Question No.20 Marks: 1

Bookmark
algFQaia [alaalaiafaly] gmi?

(A) O gaIay aIel gIeIeR1 62Q1g (Correct Answer) (Chosen option)
(B) O 2igrea aadel dix

(C) O ¢RI 2AQEIF @ 62QIq

(D) O QAR AR YOS RERIG

Question No.21 Marks: 1

Bookmark
GNP FOER AIFFAINGR @, 6270 JR?

(A) O asyiga a6y B 2&°aiq 64I6 @aem (Correct Answer) (Chosen option)
(B) O 6afliee Aoy @ 218°a1g 046l @6/

(C) O 6af16R 21§ GHIG KRR

(D) O QRMIGRIAIER 2GR QD6
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Question No.22

CIRRIFQ 606 Q2T 2i6F QRRIZ?

(A) O CIRQIF 2IGF IO RIQE! 2l6F @EAIG |
(B) O ¢lae TAQI QIR 2Kl GG e GF 689 |
(C) O aey B aRaR &gy 2I6A 9RAIE |
(

D) O ¢iog Gicm INICR ROIELAIA AURGER 6RIRRAIR 21T QIR 629 | (Correct
Answer) (Chosen option)

Question No.23

690G 9IRQ FRIFICIN AP6RR JRIAR FERINER ARIACGIF 2IQa @tgem?
(A) O aleaqs1 a1gag (Correct Answer) (Chosen option)

(B) O edlon ol a1gaQ

(C) O «Iee 9aeIae 2IgAQ

(D) O @6 AaRIae 2IgAg

Question No.24

aag 2911 9186 QI ARF! 621 QEejsm?

(A) O afes 9 JQaR aneg gge 6eaesm |

(B) O aueie aqiey Agads caniee Akl 2aa4 A | (Correct Answer)

() O aF@® 21ga 21T ARl ggoea arieg mbelem |

(D) O cIf@1s 210660 2986 621a aneg oI de JAIAIR Aege g6m | (Chosen option)

Question No.25

2L 00 AENFERRIA §19G @'61 2
(A) O Geen

(8) O age

(C) O @1 (Correct Answer)
(D) O eQ

General Knowledge - General Knowledge

Question No.1

Which of the following is abolished by Article 17 of the Indian Constitution?
(A) O Child Labour

(B) O Titles
(C) O Inequality
(D) O Untouchability (Correct Answer) (Chosen option)

Question No.2

What is the name of the long poem written by Fakir Mohan Senapati?
(A) © Bodhadayini

(B) O Utkal Bhramana (Correct Answer)
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Question No.22

FIRRIEAR 6Q4 Q2T 2lsr @ERIS?

A) O IR 2190 2IFIQ K16 2I6F 9RAIE |
B) O 0@ T8QI QI 217 Gioea aIee gf 689 |
C) O ey BaR°aQ 6gg 2Isr 98RIg |

T e

D) O ¢log dfem GRICa QOIERUIR UGN 6L1RRAIR 2216 QI 629 | (Correct
Answer) (Chosen option)

Question No.23

604 JRQ ARIFIGIN A°6AR QLA F6RIER ARIAGIA 2INA aRgem?
(A) O qieee1 216¢Q (Correct Answer) (Chosen option)
(B) O 6dlor a8 21gag

(C) O QUG 4RI 2Igag

(

D) O @6ae damIae g

Question No.24

aag 2gARIAT K196 Q1D ARQ! 621R ad2lEm?

(A) O eifge a@ SRIdisl aneg 9ge 62aejem |

(B) O aifa1e aaiey 2gad6 canea A 2a24 aRI | (Correct Answer)

(€) O iR 2I1gd 2Igel diel 9gPea aneg MBEER |

(D) O cIfe1= 2Iaden 2gUIEE 621Q AF6g I A2 IR Q@Ee 26m | (Chosen option)

Question No.25

AQEY- FRQ AAIFRRID E1RE @6l ?
(A) O Grde

(B) O age

(C) O 2e'Q1 (Correct Answer)
(D) O @1e@

General Knowledge - General Knowledge

Question No.1

Which of the following is abolished by Article 17 of the Indian Constitution?
(A) O Child Labour

(B) O Titles
(C) O Inequality
(D) O Untouchability (Correct Answer) (Chosen option)

Question No.2

What is the name of the long poem written by Fakir Mohan Senapati?
(A) © Bodhadayini

(8) O Utkal Bhramana (Correct Answer)
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(C) O Rebati (Chosen option)
(D) O Atmojivan Charita

Question No.3

E
Who among the following has prepared a strategy paper titled “National Strategy on
Additive manufacturing (AM)"?
(A) © Ministry of Finance
(B) O Reserve Bank of India
(C) O Ministry of Electronics and Information Technology (Correct Answer)
(D) O NITI Aayog (Chosen option)
Question No.4
E
Which is the first autobiography written in Odia?
(A) O Jogira Charita
(B) O Atma Jivan Charita (Correct Answer) (Chosen option)
(C) © Gobara Gotei
(D) O Pamapatrare Jeevan
Question No.5
E
In which part of the Indian Constitution are the Directive Principles of State Policy
(DPSP) mentioned?
(A) O Part- 1l
(B) O Part—IVA
(C) O Part-V
(D) O Part - IV (Correct Answer) (Chosen option)
Question No.6
E
Where the first National Level Dialogue on Agri-Food Systems-Advancing Equitable
Livelihoods has been conducted in April 20217
(A) © Bangalore
(B) O Delhi (Correct Answer) (Chosen option)
(C) O Kolkata
(D) O Chandigarh
Question No.7
E
How many union territories are along the eastern coast of India?
A)O 7
(B) O 2 (Correct Answer) (Chosen option)
© O s
(D) O 1
Question No.8
E

Which of the following is the largest river of Odisha?
(A) O Subarnarekha

(B) O Brahmani
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(C) O Rebati (Chosen option)
(D) © Atmojivan Charita

Question No.3

Who among the following has prepared a strategy paper titled “National Strategy on i
Additive manufacturing (AM)"?
(A) O Ministry of Finance
(B) O Reserve Bank of India
(C) O Ministry of Electronics and Information Technology (Correct Answer)
(D) O NITI Aayog (Chosen option)
Question No.4
E
Which is the first autobiography written in Odia?
(A) © Jogira Charita
(B) O Atma Jivan Charita (Correct Answer) (Chosen option)
(C) © Gobara Gotei
(D) O Pamapatrare Jeevan
Question No.5
E
In which part of the Indian Constitution are the Directive Principles of State Policy
(DPSP) mentioned?
(A) O Part-1
B) O Part-IVA
(C) O Part-V
(D) O Part = IV (Correct Answer) (Chosen option)
Question No.6
E
Where the first National Level Dialogue on Agri-Food Systems-Advancing Equitable
Livelihoods has been conducted in April 20217
(A) O Bangalore
(B) O Delhi (Correct Answer) (Chosen option)
(C) O Kolkata
(D) O Chandigarh
Question No.7
E
How many union territories are along the eastern coast of India?
(A)O 7
(B) O 2 (Correct Answer) (Chosen option)
© O 5
(D) O 1
Question No.8
E

Which of the following is the largest river of Odisha?
(A) © Subarnarekha

(B) O Brahmani
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(C) O Baitarani
(D) O Mahanadi (Correct Answer) (Chosen option)

Question No.9

Who built the Khirachora Gopinath Temple of Remuna?
(A) O Langula Narasimha Dev (Correct Answer)

(B) O Bhanu Deva | (Chosen option)
(C) O Anangabhima lll
(D) O Bhanudeva IV

Question No.10

"17+1" Grouping that recently appeared in the news is the grouping of:
(A) O China & South East Asian Countries

(B) O China and African Countries (Chosen option)
(C) O United States of America and African Countries
(D) O China and Central & Eastern European Countries (Correct Answer)

Question No.11

Which of the following ministry recently launched the 'NIPUN Bharat programme'?
(A) O Ministry of Youth Affairs and Sports

(B) O Ministry of Education (Correct Answer)
(C) O Ministry of skill development and entrepreneurship (Chosen option)
(D) O Ministry of Electronics and Information Technology

Question No.12

Articles 36 to 51 in Part IV of the Indian Constitution deals with .
(A) O Directive Principles of State Policy (Correct Answer) (Chosen option)

(B) O Indian Citizenship
(C) O Powers of Supreme Court of India
(D) O Interstate Tribunals

Question No.13

At which place does river Ganga enter the plains in India?
(A) O Kolkata

(B) O Allahabad (Chosen option)
(C) O Haridwar (Correct Answer)
(D) O Varanasi

Question No.14

When did British India make Delhi as their capital?
(A) O 1911 (Correct Answer) (Chosen option)

(B) O 1905
(€) O 1918
(D) O 1935

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

(C) O Baitarani
(D) O Mahanadi (Correct Answer) (Chosen option)

Question No.9

Who built the Khirachora Gopinath Temple of Remuna?
(A) O Langula Narasimha Dev (Correct Answer)

(B) O Bhanu Deva | (Chosen option)

(C) O Anangabhima llI

(D) O Bhanudeva IV

Question No.10

"1741" Grouping that recently appeared in the news is the grouping of:
(A) O China & South East Asian Countries

(B) O China and African Countries (Chosen option)
(C) O United States of America and African Countries
(D) O China and Central & Eastern European Countries (Correct Answer)

Question No.11

Which of the following ministry recently launched the 'NIPUN Bharat programme'?
(A) O Ministry of Youth Affairs and Sports

(B) O Ministry of Education (Correct Answer)
(C) O Ministry of skill development and entrepreneurship (Chosen option)
(D) O Ministry of Electronics and Information Technology

Question No.12

Articles 36 to 51 in Part IV of the Indian Constitution deals with

(A) O Directive Principles of State Policy (Correct Answer) (Chosen option)
(8) O Indian Citizenship

(C) O Powers of Supreme Court of India

(D) O Interstate Tribunals

Question No.13

At which place does river Ganga enter the plains in India?
(A) O Kolkata

(B) O Allahabad (Chosen option)
(C) O Haridwar (Correct Answer)
(D) O Varanasi

Question No.14

When did British India make Delhi as their capital?
(A) O 1911 (Correct Answer) (Chosen option)
(B) O 1905

() O 1918

(D) O 1935
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Question No.15

Ba
Which of the following international organisations recently appointed India's Comptroller
and Auditor General (CAG) as their external auditor?

(A) © Shanghai Cooperation Organization

(B) O Australia Group

(C) O Organisation for Economic Co-operation and Development (Chosen option)
(D) O Organisation for the Prohibition of Chemical Weapons (Correct Answer)

Question No.16

Ba
In which year Odisha Mining Corporation was incorporated?
(A) O 1956 (Correct Answer) (Chosen option)
(B) O 1953
(€) O 1958
(D) O 1955
Question No.17
Ba
Which countries foreign minister was recently elected as President of 76th United
Nations General Assembly for 2021-22?
(A) O Afghanistan
(B) O Mauritius
(C) O Indonesia
(D) O Maldives (Correct Answer) (Chosen option)
Question No.18
Ba
‘Rebati’, a short story was written by:
(A) O Kabibara Radhanath Ray
(B) O Fakir Mohan Senapati (Correct Answer)
(C) © Madhusudan Rao
(D) © Gopala Chandra Praharaj (Chosen option)
Question No.19
Ba
Who among the following set up the large tea gardens in India and Sri Lanka?
(A) O British (Correct Answer)
(B) O French
(C) O Portuguese (Chosen option)
(D) O Spanish
Question No.20
Ba
Which of the following states has less than 60 members in State Legislative Assembly?
(A) O Delhi

(B) O Goa (Correct Answer) (Chosen option)
(C) O Telangana
(D) © Tamil Nadu
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Question No.15

Bo
Which of the following international organisations recently appointed India's Comptroller
and Auditor General (CAG) as their external auditor?

(A) O Shanghai Cooperation Organization

(B) O Australia Group

(C) O Organisation for Economic Co-operation and Development (Chosen option)
(D) O Organisation for the Prohibition of Chemical Weapons (Correct Answer)

Question No.16

Bo
In which year Odisha Mining Corporation was incorporated?

(A) O 1956 (Correct Answer) (Chosen option)
(B) O 1953
() O 1958
(D) O 1955

Question No.17

Bo
Which countries foreign minister was recently elected as President of 76th United
Nations General Assembly for 2021-22?

(A) O Afghanistan

(B) O Mauritius

(C) O Indonesia

(D) O Maldives (Correct Answer) (Chosen option)

Question No.18

Bo
‘Rebati’, a short story was written by:

(A) O Kabibara Radhanath Ray

(B) O Fakir Mohan Senapati (Correct Answer)
(C) O Madhusudan Rao

(D) O Gopala Chandra Praharaj (Chosen option)

Question No.19

Bo
Who among the following set up the large tea gardens in India and Sri Lanka?

(A) O British (Correct Answer)
(B) O French

(C) O Portuguese (Chosen option)
(D) O Spanish

Question No.20

Bo
Which of the following states has less than 60 members in State Legislative Assembly?

(A) O Delhi

(B) O Goa (Correct Answer) (Chosen option)
(C) O Telangana

(D) O Tamil Nadu
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Question No.21

Ba
The Third Geneva Convention is relative to the
(A) O Humanitarian protections for prisoners of war (Correct Answer)
(B) © Bondage Labour of all age
(C) O lllegal Child Bonded Labour
(D) O Refugee Campaign
Question No.22
Bao
Who was the last Hindu king of Odisha?
(A) © Narasimhadeva
(B) O Mukundadeva (Correct Answer)
(C) O Purushottamadeva
(D) O Kapilendradeva
Question No.23
Bo
Prolonged exposureto ________is linked to skin cancer, genetic damage and immune
system suppression in humans and animals, and lower yielding agricultural crops.
(A) O Ultra Violet - B (Correct Answer) (Chosen option)
(B) © Gamma Rays
(C) O Micro Wave
(D) © Beta Rays
Question No.24
Bo
The most famous ruler of Vijayanagara -'Krishnadeva Raya' belongs to which dynasty ?
(A) O Saluva Dynasty (Chosen option)
(B) O Aravidu Dynasty
(C) O Sangama Dynasty
(D) O Tuluva Dynasty (Correct Answer)
Question No.25
Ba
The Lingaraj Temple at Bhubaneswar was constructed by which dynasty?
(A) O Ganga
(B) © Gajapati
(C) © Bhaumakara
(D) O Somavamsi (Correct Answer) (Chosen option)
Question No.26
Bao

Who killed the last Mauryan king and founded the Shunga dynasty?
(A) O Bimbisara

(B) © Pushyamitra (Correct Answer) (Chosen option)
(C) O Kanishka
(D) O Nagarjuna

Quantitative Aptitude - Quantitative Aptitude

Question No.1
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Question No.21

The Third Geneva Convention is relative to the

(A) O Humanitarian protections for prisoners of war (Correct Answer)
(8) O Bondage Labour of all age

(C) O lllegal Child Bonded Labour

(D) O Refugee Campaign

Question No.22

Who was the last Hindu king of Odisha?
(A) © Narasimhadeva

(B) O Mukundadeva (Correct Answer)
(C) O Purushottamadeva
(D) O Kapilendradeva

Question No.23

Prolonged exposureto ________is linked to skin cancer, genetic damage and immune
system suppression in humans and animals, and lower yielding agricultural crops.
(A) O Ultra Violet - B (Correct Answer) (Chosen option)

(B) © Gamma Rays
(C) O Micro Wave
(D) © Beta Rays

Question No.24

The most famous ruler of Vijayanagara -'Krishnadeva Raya' belongs to which dynasty ?
(A) O Saluva Dynasty (Chosen option)

(B) O Aravidu Dynasty
(C) O Sangama Dynasty
(D) O Tuluva Dynasty (Correct Answer)

Question No.25

The Lingaraj Temple at Bhubaneswar was constructed by which dynasty?
(A) O Ganga

(B) O Gajapati

(C) © Bhaumakara

(D) O Somavamsi (Correct Answer) (Chosen option)

Question No.26

Who killed the last Mauryan king and founded the Shunga dynasty?
(A) O Bimbisara

(B) © Pushyamitra (Correct Answer) (Chosen option)
(C) O Kanishka
(D) O Nagarjuna

Quantitative Aptitude - Quantitative Aptitude

Question No.1
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Find the average of arithmetic progression whose first term is 2359 and the last term is
4581.

(A) O 3770
(8) O 3570
(c) O 3670
(D) O 3470 (Correct Answer) (Chosen option)

Question No.2 N

Bool
The average of 33 numbers is 179. After excluding one of the numbers, the average
remains the same. Find the number which is excluded.

(A) O 177
(B) O 175
(C) O 179 (Correct Answer) (Chosen option)
D) O 173

Question No.3 M

Bool
A can finish a work in 246 days and B can do the same work in 492 days. Working
together, they will complete the same work in how many days?

(A) O 164 (Correct Answer) (Chosen option)
(B) © 144
(C) O 174
(D) O 154

Question No.4 N

Bool
Find the value of X:
vx x 168 = (23569-23401)%19
(A) O 361 (Correct Answer) (Chosen option)
(B) O 256
(C) O 225
(D) O 289

Question No.5 N

Bool
What value should come in the place of question mark (?) in the following question?
8.5%(28x1.5x2.5x48)=14 = ?
(A) O 3160
(B) O 2960
(C) O 3060 (Correct Answer) (Chosen option)
(D) © 2860

Question No.6 N

Bool
If Ramesh distributed 1827 chocolates from a box of 4350 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 58 (Correct Answer) (Chosen option)
(B) O 62
€) O 64
(D) O 60
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Boo
Find the average of arithmetic progression whose first term is 2359 and the last term is
4581.

(A) O 3770
(8) O 3570
(€) O 3670
(D) O 3470 (Correct Answer) (Chosen option)

Question No.2 !

Boo
The average of 33 numbers is 179. After excluding one of the numbers, the average

remains the same. Find the number which is excluded.
A O 177

(B) O 175
(C) O 179 (Correct Answer) (Chosen option)
(D) O 173

Question No.3 !

Boo
A can finish a work in 246 days and B can do the same work in 492 days. Working
together, they will complete the same work in how many days?

(A) O 164 (Correct Answer) (Chosen option)
(B) O 144
(C)O 174
(D) O 154

Question No.4 !

Boo
Find the value of X:

vx x 168 = (23569-23401)x19

(A) O 361 (Correct Answer) (Chosen option)
(B) O 256

(C) O 225

(D) O 289

Question No.5 !

Boo
What value should come in the place of question mark (7) in the following question?
8.5%(28x1.5%2.5x48)=14 = ?

(A) O 3160
(B) O 2960
(C) O 3060 (Correct Answer) (Chosen option)
(D) O 2860

Question No.6 }

Boo
If Ramesh distributed 1827 chocolates from a box of 4350 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 58 (Correct Answer) (Chosen option)
(B) O 62
(C) O 64
(D) O 60
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Question No.7

After 4268 liters of petrol were poured into the tank, it was still 12% empty. What is the
total capacity of the tank?(In liters)

(A) O 4850 (Correct Answer) (Chosen option)
(B) O 4650
(C) O 4550
(D) O 4750

Question No.8

Average of 11 consecutive numbers is 526. If the average of 15t 5 numbers is 523 and
the average of last 5 numbers is 529, find the middle number.

(A) O 522
(B) O 528
(C) O 526 (Correct Answer) (Chosen option)
(D) O 524

Question No.9

What value should come in the place of question mark (?) in the following question?
(1/35)x14910+1/42(4368) = ? x 265

(A) O 2 (Correct Answer) (Chosen option)
B) O 4
©) O 1
(D) O 3

Question No.10

The average of 163 lab readings was 59 units. Later on it was found that a reading 222
was wrongly typed as 59. Find the correct average.

(A) O 62
(B) O 64
€) O 58
(D) O 60 (Correct Answer) (Chosen option)

Question No.11

If a bus travels from city A to city B with a speed of 405 kmph and another bus travels
from city B to city A with a speed of 315 kmph, find the relative speed when both the
buses cross each other.(In m/s)

(A) O 192 (Chosen option)
B) O 196

() O 188

(D) O 200 (Correct Answer)

Question No.12

Pipe A can fill a tank in 354 minutes and Pipe B can fill the same tank in 708 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 234
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Question No.7

After 4268 liters of petrol were poured into the tank, it was still 12% empty. What is the
total capacity of the tank?(In liters)

(A) O 4850 (Correct Answer) (Chosen option)
(B) © 4650
(C) O 4550
(D) O 4750

Question No.8

Average of 11 consecutive numbers is 526. If the average of 15! 5 numbers is 523 and
the average of last 5 numbers is 529, find the middle number.

(A) O 522
(8) O 528
(C) O 526 (Correct Answer) (Chosen option)
(D) O 524

Question No.9

What value should come in the place of question mark (?) in the following question?
(1/35)x14910+1/42(4368) = ? x 265

(A) O 2 (Correct Answer) (Chosen option)

(B)O 4

€} & 1

DO 3

Question No.10

The average of 163 lab readings was 59 units. Later on it was found that a reading 222
was wrongly typed as 59. Find the correct average.

(A) O 62

(B) O 64

() O 58

(D) O 60 (Correct Answer) (Chosen option)

Question No.11

If a bus travels from city A to city B with a speed of 405 kmph and another bus travels
from city B to city A with a speed of 315 kmph, find the relative speed when both the
buses cross each other.(In m/s)

(A) O 192 (Chosen option)
®) O 19
(©) O 188
(D) O 200 (Correct Answer)

Question No.12

Pipe A can fill a tank in 354 minutes and Pipe B can fill the same tank in 708 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 234
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(B) O 240
() O 238
(D) O 236 (Correct Answer) (Chosen option)

Reasoning Ability - Reasoning Ability

Question No.1 N

Bool
A Man facing East direction turns 45 degrees clockwise, then turns 225 degrees anti-
clockwise and then turns 45 degrees in clockwise direction. Which direction is he facing
now?

(A) O North

(B) O North-West (Correct Answer) (Chosen option)
(C) O East

(D) © North-East

Question No.2 N

Bool
Find the next number in the series.
1,0,5,20,105,?
(A) O 520 (Correct Answer) (Chosen option)
(B) O 533
() O 523
(D) O 502

Case Study-3to5
Read the given information carefully and answer the questions that follow.
Four students P, Q, R and S are sitting in a row facing North(not necessarily in same order). All
of them like four different subjects namely Maths, Physics, History and Biology.
i) One who likes Maths and History sit in the extreme ends of the line.
i) R sits second to the right of the one who likes History.
iii) R doesn't like Biology and S doesn't like Maths.
iv) P and S are not neighbours.
v) Q and the one who likes Biology are neighbours.

Question No.3 N
Bool

Who likes History?

A)O s

B)O P

C)O R

(D) O Q (Correct Answer) (Chosen option)

Question No.4 N

Bool
Who sits between S and P?

(A) O One who likes Physics (Correct Answer) (Chosen option)
B)O P

(©)O Q

(D) O None

Question No.5 N
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(B) O 240
(C) O 238
(D) O 236 (Correct Answer) (Chosen option)

Reasoning Ability - Reasoning Ability

Question No.1 Marks:

Bookmark
A Man facing East direction turns 45 degrees clockwise, then turns 225 degrees anti-

clockwise and then turns 45 degrees in clockwise direction. Which direction is he facing
now?

(A) O North

(B) O North-West (Correct Answer) (Chosen option)
(C) O East

(D) O North-East

Question No.2 Marks:

Bookmark
Find the next number in the series.

1,0,520,105,7?

(A) O 520 (Correct Answer) (Chosen option)
B) O 533

() O 523

(D) O 502

Case Study-3to5

Read the given information carefully and answer the questions that follow.

Four students P, Q, R and S are sitting in a row facing North(not necessarily in same order). All four
of them like four different subjects namely Maths, Physics, History and Biology.

i) One who likes Maths and History sit in the extreme ends of the line.

i) R sits second to the right of the one who likes History.

i) R doesn't like Biology and S doesn't like Maths.

iv) P and S are not neighbours.

v) Q and the one who likes Biology are neighbours.

Question No.3 Marks:
Bookmark
Who likes History?
A)O s
B) O P
(C)O R
(D) O Q (Correct Answer) (Chosen option)
Question No.4 Marks:
Bookmark

Who sits between S and P?

(A) O One who likes Physics (Correct Answer) (Chosen option)
B O P

©) O Q

(D) © None

Question No.5
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Who sit at an extreme end of the row?

(A) O P (Correct Answer) (Chosen option)
(B) O One who likes Physics
(c)O s

(D) O 0ne who likes Biology

Question No.6 A

Bool
Find the next number in the series.

5,325, 590, 800, 955, 7

(A) O 1035

(B) © 1025

() O 1045

(D) O 1055 (Correct Answer) (Chosen option)

Question No.7 N

Bool
Find the next number in the series.

723, 500, 325,162, 95, ?

(A) O 30

(B) O 32

(€) O 34

(D) O 28 (Correct Answer) (Chosen option)

Question No.8 N

Bool
In a certain code language, if BLUE is coded as EOXH, then how is GONE coded in that
language?

(A) O JRQH (Correct Answer) (Chosen option)
(B) O TLMV
(C) O JQPG
(D) O 1QPG

Question No.9 N

Bool
A man starts from his house and walks 3km North and turns towards his right and walks

7km and continues in the same direction for another 2km. He then walks 3km in South

direction and finally walks 4km in West direction. What is the distance between his
starting and ending point?

(A) O 7km

(8) O 11km

(€) © 9km

(D) O 5km (Correct Answer) (Chosen option)

Question No.10 N

Bool
In a certain code language, if HARMONY is coded as IBSOPOZ, then how is PROBLEM
coded in that language?

(A) O QDTPMGN
(B) O QSMDPFN
(C) O QSPDMFN (Correct Answer) (Chosen option)
(D) © QTPDMGN
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Who sit at an extreme end of the row?
(A) O P (Correct Answer) (Chosen option)

(B) © One who likes Physics
(c)O s
(D) O 0ne who likes Biology

Question No.6

Find the next number in the series.

5,325, 590, 800, 955, ?

(A) O 1035

(B) O 1025

(C) O 1045

(D) O 1055 (Correct Answer) (Chosen option)

Question No.7

Find the next number in the series.
723,500, 325,192, 95,7

(A) O 30
(B) O 32
(€) O 34
(D) O 28 (Correct Answer) (Chosen option)

Question No.8

In a certain code language, if BLUE is coded as EOXH, then how is GONE coded in that
language?

(A) O JRQH (Correct Answer) (Chosen option)
(B) O TLMV
(c) O Jare
(D) O 1QPG

Question No.9

A man starts from his house and walks 3km North and turns towards his right and walks
7km and continues in the same direction for another 2km. He then walks 3km in South
direction and finally walks 4km in West direction. What is the distance between his
starting and ending point?

(A) O 7km
(B) O 11km
(C) O 9km
(D) O 5km (Correct Answer) (Chosen option)

Question No.10

In a certain code language, if HARMONY is coded as IBSOPQZ, then how is PROBLEM
coded in that language?

(A) O QDTPMGN
(B) O QSMDPFN
(C) O QSPDMFN (Correct Answer) (Chosen option)
(D) O QTPDMGN
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Question No.11

Replace the question mark with an option that follows the same logic applied in the
first pair

Larva: Insects::Puppy: ??
(A) O Colt

(B) O Butterfly
(C) O Pony
(D) O Dog (Correct Answer) (Chosen option)

Question No.12

Find the next number in the series.
5,84, 183, 302, 441,7?

(A) O 570
(B) O 590
(€) O 580
(D) O 600 (Correct Answer) (Chosen option)
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Question No.11

Replace the question mark with an option that follows the same logic applied in the
first pair

Larva: Insects::Puppy: 7?
(A) O Colt

(B) O Butterfly
(C) O Pony
(D) O Dog (Correct Answer) (Chosen option)

Question No.12

Find the next number in the series.
5, 84,183, 302, 441, 7?

(A) O 570
(B) O 590
(C) O 580
(D) O 600 (Correct Answer) (Chosen option)
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